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SECTION A
ESSAY QUESTION (50 marks)

INSTRUCTION:

This section consists of TWO (2) essay questions. Answer ALL the questions.

QUESTION 1
a)  Figure A(1)a below illustrated tachymetry with Tangential System. If Height of
Instrument was measured as 1.520m, calculate;

i. Horizontal Distance (H) between point A and point B.
[CLO 1: C2]

(5 marks)

ii. Reduced Level of point A, if Reduced Level of point B is 80.000m.
[CLO 1: C2]
(8 marks)

Figure A(1)a
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b) Find Horizontal Distance of X-Y measured by Substance System if substance

bar length is 4.500m as in Figure A(1)b.
[CLO 1: C2]

(12 marks)

Figure A(1)b
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QUESTION 2

a) Nowadays the use of Electronic Distance Measurement (EDM) has been

increased. List FIVE (5) common brands of EDM in current market.

[CLO3: C1)
(5 mark)

b) Electronic Distance Measurement device can be classified according to the

types of wave, such as :
- Microwave
= Infra Red Wave

= Laser

Discuss briefly TWO (2) out of THREE (3) types of the above waves.

[CLO3: C1]
(10 mark)

c) Explain briefly TWO (2) types of instrument error in EDM.

[CLO3: CI1]
(10 mark)
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SECTION B
ESSAY QUESTION ( 50 marks)

INSTRUCTION:
This section consists of THREE (3) essay questions. Answer TWO (2) questions

only.

QUESTION 1
a)  The following Figure B(1)a shows the reduced level of a rectangular plot which

is to be excavated to a uniform depth of 9 meters above datum. Calculate the

average depth and the volume of earth to be excavated.

[CLO2: C3]
15m 15m J
¥ [A(10.16) B(IL.1) C(11.6)
15m
A 4
¥ D(10.7) E(11.5) F(11.7)
15m
A 4
G(10.9) H(12.1) 1(12.9)
Figure B(1)a.
(14marks)
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b) By referring to Figure B(1)b, identify the balance line, freehaul distance,
overhaul distance, frechaul volume and overhaul volume. Calculate the haul,

overhaul and freehaul.

[CLO2: C3]
4
1900m’
1880ms
455mL . A ]
Figure B(1)b
(11 marks)
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QUESTION 2

Two straight lines that intersect at a deflection angle 50° 00’ 00” are connected by a
circular curve with radius 400 m. Chain age at the intersection point is 1692.020 m.

Calculate the setting out at 25m interval. Given bearing at T|I is 60° 00’ 00”, prepare

the suitable table. Find:

[CLO2: C3]
i. Tangent length
ii. Length of circular arc
iii, Chain age
iv. Deflection angle with one (1) theodolite.
(25 marks)
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QUESTION 3 y % T
i 1 » 4 v y
a)  Explain FIVE (5) responéibili{ies of a Setting Out Engineer. '
[CLO2: C3]
(5 marks)

b)  The data for setting out of propose drainage in primary school project are as

follow :
[CLOZ; C3]
Invert level at point A =28.321m
Gradient Drainage from point A to point B = 1: 75 (decreased)
Distance from point A to point B =50m
TBM =3241m
Back sight (staf on TBM) =1.122m
Intermediate sight ( staf at point A) =2.232m
Fore Sight (staf at drain point B) = 3.100m
Traveller Height =3.0m
Calculate:
i.  Height of rail at point A and point B
ii. Depth of excavation at point A and point B
(20marks)

Page 8 of 8



HP sV iy - % @Hﬁﬁlﬁ.ﬂ”—v 8 9 VH A (I'H) IN3
+ _1 T e — 8y -V — o

o .mm< =y ( v AFIHZHP | o ()= . I . .PHQII 5 (44v1S | amom) | €Hdd) | onmvag | WnuisNi

44v1S) NOILY.LS z; JH 4 V) 'ge Y | ‘31o8v I J1ONY v 40
om.__wwww_m M_me%m_m 1HOI3H 40 AoRviSia JONV.LSIA FONIHIHIA | "5 1uboy | voumaa | VOHM3A | LNOZIWOH u.w__wqhw

3ON3¥3441a DILY3IA WV INOZINOH !
(QOHL3IN TVILNIONVL)
WHO4d AYLIWAHOVL

non | MPMO1I0d UelfeBuag uejeqer g 1 ‘oudlnepn

’ = G L — UBUS SUPIURING AN - sweN
s Wy ot ey ol :.J.Inl\m,mmw. o I!

T el




L Wl A}m" s -

Name : ,@ = S itan Idtis Shah
Matric no. "N Jabatan Pengajian Politexnik _L ........ -
TACHYMETRY FORM
(TANGENTIAL METHOD)
HORIZONTAL
. VERTICAL DIFFERENCE REDUCED
Shmor | womzont | VeRmcaL | VERTOA | Helghtof | piepgpence | DISTANCE | Digance | OFHEIGHT | Diever |  LEVEL
OF AL ANGLE, (LOWE | T >_umu OF HEIGHT, S s s A\J H tan (STATION |  (STAFF), NOTE
INSTRUM | BEARING | (UPPER)® ) =H,Hy | H=———— dH=H.IzV | ) AL= AL,
ENT (H.I) R) ® Ha& Hg (ta)—tan) ¢ —Hg AL, dH




(w) g,500

HP W=y |y VAR | i . | mare © — . (rH) 1N
310N (d3vis) (NOILY1S) 1HOIEH : + VIQVLS 40 (37aaw) NETS 6 'T1ONY ONIdY3g JNNYLSNI
13ATT 3A3T IONVLSI VIQvLs TVOILY3A | TYINOZIHOH | 4O 1913H
Q39Na3y a39na3y 4013 3ONVLSIa v IVAYILNI . 2 ¥3ddn 2 NOLLYLS

ONIY3441 IVIILY3A
LINOZINOH
(QOH.L13n viavis)
WHO4 AM13INAHOVYL

.

Lo

Hiwajjod ueillebuag :mu.wnmﬁ

i

O

VAN

YrEm

YBUS SUp] UBying

AT 2 BT

amal & N o

j { m— -

| P — e,

I -ouosuep

aweN




. — o —— /AR g | BT §pE= 7
Name = rgu ) - ounan iurs Shan bt
<l Matric no. :: ~= Jabatan Pengajian Po _ecknik U=
TACHYMETRY FORM
(STADIA METHOD)
HGRIZONT
STATION 2 UPPER & ‘ INTERVAL AL mwmmmwm iy NC | RepuceD | REDUCED
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